Problem 1(equivalent system):
	Replace the force and couple moment system by an equivalent force and couple moment acting at point P.
Solution:
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Problem 2 (equivalent system):

	The weights of the various components of the truck are shown.  Replace this system of forces by an equivalent resultant force and couple moment acting at point A.

Solution:
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Problem 3 (equivalent system):
	Replace the two wrenches and the force, acting on the pipe assembly, by an equivalent resultant force and couple moment acting at point O.
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Solution:
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